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1) The linear equation is

2X +Iny =3 3sin(x,)—x, =5
2x —3y =-1 D] 3xy —z =5

2) The linear equation is

2x +e” =3 log, (x,)—-x, =2
2x —3y =-1 D] 3x +sin(%)y -2z =1

3) The non-linear equation is

2X +y =-3 3sin(x,)—x, =5
[c] 2x =3y =-1 D] 3Xx +y -z =5

4) The non-linear equation is

2X +y =-3 2x —3y =-1
€] 24/x -3y =-1 D] 3Xx +y -z =5

5) The non-linear equation is

In(2x)+y =3 2x —3y =1
Clx -3y =-1 D] 3x +y -z =5
6) Solve the system of linear equations 3 +2y =1
5x +3y =0

[A] x =-3andy =5 B] x =—3andy =5

[c] x =3andy =5 D] x =-3andy =0




33X +2y =1 i

7) The system
5x +3y =0

S

Consistent with one solution Inconsistent
Consistent with infinite solution

33X +2y =1
6X +4y =0

8) The system IS

Consistent with one solution Inconsistent
Consistent with infinite solution

9) The system 3x +y =1 iS

Consistent with one solution Inconsistent
Consistent with infinite solution

-1 2], :
10) The matrix { 3 5} IS a square matrix

True False

11) The matrix {_02 ﬂ is of order

[A] 2 B] 2x3 [C] 3x2 D] 6

X —3y =23
2x +y =-10

12) The coefficient matrix of the system IS

w3 w7




1 -3 -1 -3
C|A= A=
1 3
13) Thematrix [0 1 0] isinarow echelon form
1 1
[A] True False
1 3
14) The matrix [0 2 0] isinarow echelon form

True False

15) The matrix | 0

True False

1 0] isinareduced form

16) The matrix |0

True False

1 2| isinareduced form

) 1
17) The matrix { 0

True False

2| -1

IS in a reduced form
1| 3




1 2 3
18) The operation to transfer the matrix {0 1 0| toarow
2 01

echelon form is

R,>R,-R,[B]R, >R, -2R,[C] R3—>%R3|E| R, >R, +2R,

1 2 3
19) The operation to transfer the matrix |0 3 6| toarow
0 01

echelon form is

R, >R, -3R, R2—>%R2 R2—>%R2 D] R2—>—%R2

1 2 3
20) The operation to transfer the matrix [0 0 0| toarow
0 0 1

echelon form is

R,<R, [B]R,©R, R, -R, [D] R, &R,

2x — by + 5z = 17
21) The coefficient matrix of x - 2y + 3z = 9
-X + 3y = —4
IS
2 -5 5 1 -5 5

1 -2 3|[B]| 1 -2 3

1 3 0 -1 3 0




2 55 2 55
1 2 3/[p]| 1 -2 3
-1 30 -1 30
2x — by + 5z = 17
22) The augmented matrixof x - 2y + 3z = 9
X + 3y = -4
IS
2 -5 5[17] 2 -5 5|7]
Al 1 2 3/9|[B]| 1 -2 39
1 3 0-4] -1 3 0]-4]
2 -5 5[17] 2 -5 5[17]
Cl| 1 2 39|12 309
-1 3 0]-4] -1 3 0]4]
2x — 9y + 5z = 17
23) The system X -2y + 3 = 9has an
X + 3y = -4
equivalent augmented matrix
(1 -2 3] 9] [-1 -2 3 9]
1 30 -4|[B]|-1 3 0 -4
|2 -5 5] 17| | 2 -5 5] 17
1 -2 3| 9] 1 -2 3| 9]
Cl|-1 30 4|[D|-1 3 0 -4
| 2 -5 5| 17| | 2 -5 5| 17|




2Xx — 9y + bz =

17

24) The system X — 2y + 3z = 9has an
X + 3y = -4
equivalent augmented matrix
1 -2 3 9 1 -2 3 9
0 13 5 0 13 5
(0 0 1] 4 |0 0 1] 2
1 -2 3 9 1 -2 3| 9
o 13 s5/[Dljo 1 3] 5
(0 0 2] 2 0 0 -1] 2
2x — 9y + 5z = 17
25) The system X — 2y + 32z = 9has an
X + 3y = -4
equivalent augmented matrix
(1 0 0/1] [1 0 of
[Allo 1 o-1|[B] |0 1 of
0 0 1] 2] 0 0 12
(1 0 0| 1] 1 0 01
Cllo 1 o}-1{[D]|o 1 o]
0 0 1-2] 0 0 1]2
26) The solution of the system
2x — by + 52 = 17
X -2y + 3 = 9is
X + 3y = -4
Xx=1y=-1z=-2 X=-1y=-1z=2
Xx=Ly=-1z=2 D] x =1y =1z =2




27) The system of

X +2Y =4 has augmented matrix

2x +4y =8
sie o i b
alih Lk
28) The system of 22 14213); Zg has equivalent augmented
ot b ot
Il o, ¢ b
29) The system of 22 14213); Zg has

Only one solution
Infinite solutions

no solutions
[D] two solutions

30) The homogeneous system is

X +2y =4
2X +4y =8
X +2y =1
2X +4y =0

—-3X +2y =0
2X +4y =0
33X +2y =1
2X +4y =-1

31) Every homogeneous system of linear equations is

consistent.

True False




32) If a homogeneous system has fewer equations than
variables, then it must have finite number of solutions.

True False

2x — 5y + 52 = 0
33) Thesystem x - 2y + 3z = 0 has
two solutions infinite number of solutions

Only trivial solution [D]| One solution non trivial

34) The augmented matrix of the  system

2X, + 4X,— 2X,= 0 i
3X,+ 5X, = 0
2 4 -2 0 2 4 -2 0
A
_150| o} {350| o}
1 4 -1 0 1 2 -2 0
C
_3 5 0 o} @{3—1 0l 1}

35) The augmented matrix of the  system

2X,+ AX,— 2X,;= 0 i

3X,+ 95X, = 0
1 0 5 O 1 -1 5 0
A
_3 1 -3 0 {o 1 -3 o}
1 0 5 O 1 0 0 O
C
_o 1 -3 0 @{o 1 -3 o}




X+ Y+ z 4
36) The coefficient matrix of X - y+ Z -2 is
2X — Y+ 2z 2
1 1 4 1 1 1
Al |-1 -1 =2|[B] |-1 -1 1
2 -1 2 2 -1 2
1 1 1 1 1 1
2 -1 1/p]| 1 -1 1
-1 -1 2 2 -1 2
X+ y+ z= 4
37) The augmented matrixof -x - y+ z= -21is
2X — Y+ 27 = 2
1 1 1 4 1 1 1 4]
Al|-1 -1 1 2| Bl|-1 -1 1 2
2 -1 2] 2 1 -1 2 -2
1 1 1 4 1 1 1 4]
1 1 -] 2| D]|1 1 1 -2
2 -1 2 2 2 1 2 -2
X+ y+ z= 4
38) Thesystem -x - y+ z= -2 hasanequivalent
2X — Y+ 27 = 2
augmented matrix by the row operations (R, >R, +R;
and R, >R, -2R,)
1 1 4 1 1 4
Al o o 2 —2|[B]|0o 1 2 2
0 -3 0 -6 0 -3 0 -6




10

1 1 1 4 1 1 1 4

o 0 2 2/[D]|o o 2 -2
0 -3 0 -6 0 -3 0 6
X+ y+ z= 4
39) Thesystem —x- y+ z=  -2hasanequivalent
2X — Y+ 2= 2

augmented matrix by the row operations (R, <> R, )

1 1 14 4] [1 1 4 4
3 0 -6 0 3 0 -6
0 0 2 2/ [0 0 2 2]
1 1 4 4] [ 1 -1 1 4]
3 0o 6/[D]| 0 3 0o -6
0o 0 1 2/ [0 0 2 2]

X+ y+ z= 4
40) Thesystem —x—- y+ z=  -2hasanequivalent
2X — Y+ 2= 2
augmented matrix by the row operations (R, —>—%R2
1
and R, —>§R3)
1] 4
o 2
1] -1 0 0 1 1
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X+ y+ z= 4

41) Thesystem —x - y+ z=  -2hasanequivalent
2X — Y+ 27 = 2

augmented matrix by the row operations (R, > R, —R,)

1 -1 0 3 1 10 4
0 1 0 2 0 10 2
0 0 1 1 0 0 1 1
1 1 0 4 1 10 3
Cl|o 1 0 -2 [D]|0o 10 2
0 0 1 1 0 0 1 1
X+ y+ z= 4
42) Thesystem —-x—- y+ z= -2 hasan equivalent
2X — Y+ 27 = 2
augmented matrix by the row operations (R, > R, —R,)
1 0 0 3] 1 10 4
0 10 2 0 10 2
0 0 3 1 0 0 1 1
1 0 0 1 1 00 4
0 10 2 Dl|o 1 0 2
0 0 3 1 0 0 1 1
X+ y+ z= 4
43) The solution of the system —-x - y+ z=  -2is
2X — Y+ 27 = 2

x=1ly=1z=2 x=1y=2z=1
X=1y=27=2 D] x =1y =1z=2




1) The linear equation is

2X +Iny =3 3sin(x,)—x, =5
2x —3y =-1 D] 3xy —z =5

2) The linear equation is

2x +e” =3 log, (x,)—-x, =2
2x —3y =-1 D] 3x +sin(%)y -2z =1

3) The non-linear equation is

2X +y =-3 3sin(x,)—x, =5
[c] 2x =3y =-1 D] 3Xx +y -z =5

4) The non-linear equation is

2X +y =-3 2x —3y =-1
€] 24/x -3y =-1 D] 3Xx +y -z =5

5) The non-linear equation is

In(2x)+y =3 2x —3y =1
Clx -3y =-1 D] 3x +y -z =5
6) Solve the system of linear equations 3 +2y =1
5x +3y =0

[A] x =-3andy =5 B] x =—3andy =5

[c] x =3andy =5 D] x =-3andy =0




33X +2y =1 i

7) The system
5x +3y =0

S

Consistent with one solution Inconsistent
Consistent with infinite solution

33X +2y =1
6X +4y =0

8) The system IS

Consistent with one solution Inconsistent
Consistent with infinite solution

9) The system 3x +y =1 iS

Consistent with one solution Inconsistent
Consistent with infinite solution

-1 2], :
10) The matrix { 3 5} IS a square matrix

True False

11) The matrix {_02 ﬂ is of order

[A] 2 B] 2x3 [C] 3x2 D] 6

X —3y =23
2x +y =-10

12) The coefficient matrix of the system IS

w3 w7




1 -3 -1 -3
C|A= A=
1 3
13) Thematrix [0 1 0] isinarow echelon form
1 1
[A] True False
1 3
14) The matrix [0 2 0] isinarow echelon form

True False

15) The matrix | 0

True False

1 0] isinareduced form

16) The matrix |0

True False

1 2| isinareduced form

) 1
17) The matrix { 0

True False

2| -1

IS in a reduced form
1| 3




1 2 3
18) The operation to transfer the matrix {0 1 0| toarow
2 01

echelon form is

R,>R,-R,[B]R, >R, -2R,[C] R3—>%R3|E| R, >R, +2R,

1 2 3
19) The operation to transfer the matrix |0 3 6| toarow
0 01

echelon form is

R, >R, -3R, R2—>%R2 R2—>%R2 D] R2—>—%R2

1 2 3
20) The operation to transfer the matrix [0 0 0| toarow
0 0 1

echelon form is

R,<R, [B]R,©R, R, -R, [D] R, &R,

2x — by + 5z = 17
21) The coefficient matrix of x - 2y + 3z = 9
-X + 3y = —4
IS
2 -5 5 1 -5 5

1 -2 3|[B]| 1 -2 3

1 3 0 -1 3 0




2 55 2 55
1 2 3/[p]| 1 -2 3
-1 30 -1 30
2x — by + 5z = 17
22) The augmented matrixof x - 2y + 3z = 9
X + 3y = -4
IS
2 -5 5[17] 2 -5 5|7]
Al 1 2 3/9|[B]| 1 -2 39
1 3 0-4] -1 3 0]-4]
2 -5 5[17] 2 -5 5[17]
Cl| 1 2 39|12 309
-1 3 0]-4] -1 3 0]4]
2x — 9y + 5z = 17
23) The system X -2y + 3 = 9has an
X + 3y = -4
equivalent augmented matrix
(1 -2 3] 9] [-1 -2 3 9]
1 30 -4|[B]|-1 3 0 -4
|2 -5 5] 17| | 2 -5 5] 17
1 -2 3| 9] 1 -2 3| 9]
Cl|-1 30 4|[D|-1 3 0 -4
| 2 -5 5| 17| | 2 -5 5| 17|




2Xx — 9y + bz =

17

24) The system X — 2y + 3z = 9has an
X + 3y = -4
equivalent augmented matrix
1 -2 3 9 1 -2 3 9
0 13 5 0 13 5
(0 0 1] 4 |0 0 1] 2
1 -2 3 9 1 -2 3| 9
o 13 s5/[Dljo 1 3] 5
(0 0 2] 2 0 0 -1] 2
2x — 9y + 5z = 17
25) The system X — 2y + 32z = 9has an
X + 3y = -4
equivalent augmented matrix
(1 0 0/1] [1 0 of
[Allo 1 o-1|[B] |0 1 of
0 0 1] 2] 0 0 12
(1 0 0| 1] 1 0 01
Cllo 1 o}-1{[D]|o 1 o]
0 0 1-2] 0 0 1]2
26) The solution of the system
2x — by + 52 = 17
X -2y + 3 = 9is
X + 3y = -4
Xx=1y=-1z=-2 X=-1y=-1z=2
Xx=Ly=-1z=2 D] x =1y =1z =2




27) The system of

X +2Y =4 has augmented matrix

2x +4y =8
sie o i b
alih Lk
28) The system of 22 14213); Zg has equivalent augmented
ot b ot
Il o, ¢ b
29) The system of 22 14213); Zg has

Only one solution
Infinite solutions

no solutions
[D] two solutions

30) The homogeneous system is

X +2y =4
2X +4y =8
X +2y =1
2X +4y =0

—-3X +2y =0
2X +4y =0
33X +2y =1
2X +4y =-1

31) Every homogeneous system of linear equations is

consistent.

True False




32) If a homogeneous system has fewer equations than
variables, then it must have finite number of solutions.

True False

2x — 5y + 52 = 0
33) Thesystem x - 2y + 3z = 0 has
two solutions infinite number of solutions

Only trivial solution [D]| One solution non trivial

34) The augmented matrix of the  system

2X, + 4X,— 2X,= 0 i
3X,+ 5X, = 0
2 4 -2 0 2 4 -2 0
A
_150| o} {350| o}
1 4 -1 0 1 2 -2 0
C
_3 5 0 o} @{3—1 0l 1}

35) The augmented matrix of the  system

2X,+ AX,— 2X,;= 0 i

3X,+ 95X, = 0
1 0 5 O 1 -1 5 0
A
_3 1 -3 0 {o 1 -3 o}
1 0 5 O 1 0 0 O
C
_o 1 -3 0 @{o 1 -3 o}




X+ Y+ z 4
36) The coefficient matrix of X - y+ Z -2 is
2X — Y+ 2z 2
1 1 4 1 1 1
Al |-1 -1 =2|[B] |-1 -1 1
2 -1 2 2 -1 2
1 1 1 1 1 1
2 -1 1/p]| 1 -1 1
-1 -1 2 2 -1 2
X+ y+ z= 4
37) The augmented matrixof -x - y+ z= -21is
2X — Y+ 27 = 2
1 1 1 4 1 1 1 4]
Al|-1 -1 1 2| Bl|-1 -1 1 2
2 -1 2] 2 1 -1 2 -2
1 1 1 4 1 1 1 4]
1 1 -] 2| D]|1 1 1 -2
2 -1 2 2 2 1 2 -2
X+ y+ z= 4
38) Thesystem -x - y+ z= -2 hasanequivalent
2X — Y+ 27 = 2
augmented matrix by the row operations (R, >R, +R;
and R, >R, -2R,)
1 1 4 1 1 4
Al o o 2 —2|[B]|0o 1 2 2
0 -3 0 -6 0 -3 0 -6




10

1 1 1 4 1 1 1 4

o 0 2 2/[D]|o o 2 -2
0 -3 0 -6 0 -3 0 6
X+ y+ z= 4
39) Thesystem —x- y+ z=  -2hasanequivalent
2X — Y+ 2= 2

augmented matrix by the row operations (R, <> R, )

1 1 14 4] [1 1 4 4
3 0 -6 0 3 0 -6
0 0 2 2/ [0 0 2 2]
1 1 4 4] [ 1 -1 1 4]
3 0o 6/[D]| 0 3 0o -6
0o 0 1 2/ [0 0 2 2]

X+ y+ z= 4
40) Thesystem —x—- y+ z=  -2hasanequivalent
2X — Y+ 2= 2
augmented matrix by the row operations (R, —>—%R2
1
and R, —>§R3)
1] 4
o 2
1] -1 0 0 1 1




11

X+ y+ z= 4

41) Thesystem —x - y+ z=  -2hasanequivalent
2X — Y+ 27 = 2

augmented matrix by the row operations (R, > R, —R,)

1 -1 0 3 1 10 4
0 1 0 2 0 10 2
0 0 1 1 0 0 1 1
1 1 0 4 1 10 3
Cl|o 1 0 -2 [D]|0o 10 2
0 0 1 1 0 0 1 1
X+ y+ z= 4
42) Thesystem —-x—- y+ z= -2 hasan equivalent
2X — Y+ 27 = 2
augmented matrix by the row operations (R, > R, —R,)
1 0 0 3] 1 10 4
0 10 2 0 10 2
0 0 3 1 0 0 1 1
1 0 0 1 1 00 4
0 10 2 Dl|o 1 0 2
0 0 3 1 0 0 1 1
X+ y+ z= 4
43) The solution of the system —-x - y+ z=  -2is
2X — Y+ 27 = 2

x=1ly=1z=2 x=1y=2z=1
X=1y=27=2 D] x =1y =1z=2




12

44) The augmented matrix of

R W P W b

4k, — 8X,— 3+ 2X,= 13
X, — 4X,— X;— K=
2X, = AX,— 2X;+ 22X, = 6
IS
4 -8 -3 2 13] [ 4 8 -3 2 13]
Al 3 4 -1 -3 5/[B]| 3 4 -1 -3 5
2 -4 -2 2 6 2 4 -2 2 6
4 -8 -3 2/ 3] [ 2 -8 -3 2 13
3 4 -1 -3 5/D]|3 4 -1 -3 5
2 4 2 2 6 4 4 2 2 6
4k, — 8X,— 3+ 2X,= 13
45) The system 3X,— 4X,— X;— 3X,;= 5 has an
2X = AX,— 2X;+ 22X, = 6

equivalent augmented matrix by the row operations (

R3—>%R3)
-8 -3 2
-4 -1 -3
-2 -2 1
-8 -3 2
-4 -1 -3
-2 -1 1

13 4 -8 -3 2
5 3 2 -1 -3
3] |1 -2 -1 1
13] [ 4 -8 -3 2
5/[D]| 3 -4 -1 -3
3] |1 -2 -1 -




13

4k, — 8X,— 3W;+ 2X,= 13

46) The system 3X,— 4X,— X;— 3X,;= 5 has an
2X, = AX,— 2X;+ 22X, = 6
equivalent augmented matrix by the row operations (
R, <R,)
1 -2 -1 1 3] [ 4 -2 -1 1 3
Al 3 4 -1 -3 5/[B]| 3 4 -1 -3 5
4 -8 3 2 3 |1 -8 -3 2 13
1 -2 -1 1 3 [ 1 -2 -1 3 3]
cl]| 3 4 1-3 5/[D]| 3 4 -1 -3 5
| 4 -8 3 2 18] | 4 -8 -3 2 13
4k, — 8X,— 3+ 2X,= 13
47) The system 3X,— 4X,— X;— 3X,;= 5 has an
2X, = AX,— 2X;+ 22X, = 6

equivalent augmented matrix by the row operations

1 2 -1 1 3 1 2 -1 1 3
Al 0 2 2 -6 -4|[B]| 0 2 2 -8 -4
0 0 1-2 1 [ 0O -2 1]
1 -2 -1 14 3] [ 1 -2 -1 1 3]
0 2 2 -6 -4/[D]| 0 1 -6 -4
0 0 1 -2 13] [ 0O -2 1]
4k, — 8X,— 3+ 2X,= 13

48) Thesystem 3X,— 4x,— X;— 3X;=
2X, = AX,— 2X;+ 22X, = 6

has an equivalent augmented matrix by the row operations




14

1 -2 -1 1 3] [ 1 -2 -1 1 3]
0 1 -3 -4|[B]|] 0 1 1 -3 -2
0 -2l 1] |0 -2 1]
1 -2 -1 0o 3] [ 1 -2 -1 1 3]
0 1 1 -3 -2/[D]| 0 1 -3 -4
0 0 -2l 1] |0 -2 1]
4k, — 8X,— 3+ 2X,= 13

49) The system 3X,— 4X,— X;— 3X,;= 5 has an

2X,— 4X,— 2X,+ 6
equivalent augmented matrix by the row operations

N

x
w

[l

1 -2 -1 1 3 1 -2 -1 1 3
Al 0o 1 1 -3 —4|[B]|] 0 1 1 -3 -2
0 0 1 -2 1 0 0 1 -2 1]
1 -2 -1 0 3] 1 -2 -1 1 3]
cl{o 1 1 -3 -2|D]|] 0 1 1 -3 -4
0 0 1 -2 1] |0 0 1 -2 1]
50) The solution of the system
4k, — 8X,— 3+ 2X,= 13
X, — 4X,— X;— 3K;= 5
2X, = AX,— 2X;+ 22X, = 6
IS
X, =3 -2X,=t+1x,=2t -3and x, =t;t eR
X, =3 -2x,=t-3x,=2+landx, =t;t eR
X, =2-3%x,=t-3x,=2t +1land x, =t;t eR
D] X, =t-2,x,=t-3x,=2t +1andx,=t;t eR




1) The linear equation is

2X +Iny =3 3sin(x,)—x, =5
2x —3y =-1 D] 3xy —z =5

2) The linear equation is

2x +e” =3 log, (x,)—-x, =2
2x =3y =-1 D] 3x +sin(%)y -2z =1

3) The non-linear equation is

2X +y =-3 3sin(x,)—x, =5
2x =3y =-1 D] 3x +y —z =5

4) The non-linear equation is

2X +y =-3 2x —3y =-1
] 2Jx =3y =-1 D] 3Xx +y —z =5

5) The non-linear equation is

In(2x)+y =3 2x —3y =1
clx -3y =-1 D] 3x +y -z =5
6) Solve the system of linear equations 3 +2y =1
5x +3y =0

[A] x =-3andy =5 B] x =—3andy =5

€] x =3andy =5 D] x =-3andy =0




33X +2y =1 i

7) The system
5x +3y =0

S

Consistent with on solution Inconsistent
Consistent with infinite solution

33X +2y =1
6x +4y =0

8) The system IS

Consistent with on solution Inconsistent
Consistent with infinite solution

9) The system 3x +y =1 is

Consistent with on solution Inconsistent
Consistent with infinite solution

-1 2], :
10) The matrix { 3 5} IS a square matrix

True False

11) The matrix {_02 ﬂ is of order

[A] 2 B] 2x3 [C] 3x2 D] 6

X —3y =23
2x +y =-10

12) The coefficient matrix of the system IS

w3 w7




1 -3 -1 -3
C|A= A=
1 3
13) Thematrix [0 1 0] isinarow echelon form
1 1
[A] True False
1 3
14) The matrix [0 2 0] isinarow echelon form

True False

1 0
15) Thematrix [0 1 0] isinareduced form
0 1
[A]True False
1 0
16) The matrix |0 1 2] isin a reduced form

True False

) 1
17) The matrix { 0

True False

3 -1 is in a reduced form
] 3




1 2 3
18) The operation to transfer the matrix {0 1 0| toarow
2 01

echelon form is

R,>R,-R,[B]R, >R, -2R,[C] R3—>%R3|E| R, >R, +2R,

1 2 3
19) The operation to transfer the matrix |0 3 6| toarow
0 01

echelon form is

R, >R, -3R, R2—>%R2 R2—>%R2 D] R2—>—%R2

1 2 3
20) The operation to transfer the matrix [0 0 0| toarow
0 0 1

echelon form is

R,<R, [B]R,©R, R, -R, [D] R, &R,

2x — by + 5z = 17
21) The coefficient matrix of x - 2y + 3z = 9
-X + 3y = —4
IS
2 -5 5 1 -5 5

1 -2 3|[B]| 1 -2 3

1 3 0 -1 3 0




2 55 2 55
1 2 3/[p]| 1 -2 3
-1 30 -1 30
2x — by + 5z = 17
22) The augmented matrixof x - 2y + 3z = 9
X + 3y = -4
IS
2 -5 5[17] 2 -5 5|7]
Al 1 2 3/9|[B]| 1 -2 39
1 3 0-4] -1 3 0]-4]
2 -5 5[17] 2 -5 5[17]
Cl| 1 2 39|12 309
-1 3 0]-4] -1 3 0]4]
2x — 9y + 5z = 17
23) The system X -2y + 3 = 9has an
X + 3y = -4
equivalent augmented matrix
(1 -2 3] 9] [-1 -2 3 9]
1 30 -4|[B]|-1 3 0 -4
|2 -5 5] 17| | 2 -5 5] 17
1 -2 3| 9] 1 -2 3| 9]
Cl|-1 30 4|[D|-1 3 0 -4
| 2 -5 5| 17| | 2 -5 5| 17|




2Xx — 9y + bz =

17

24) The system X — 2y + 3z = 9has an
X + 3y = -4
equivalent augmented matrix
1 -2 3 9 1 -2 3 9
0 13 5 0 13 5
(0 0 1] 4 |0 0 1] 2
1 -2 3 9 1 -2 3| 9
o 13 s5/[Dljo 1 3] 5
(0 0 2] 2 0 0 -1] 2
2x — 9y + 5z = 17
25) The system X — 2y + 32z = 9has an
X + 3y = -4
equivalent augmented matrix
(1 0 0/1] [1 0 of
[Allo 1 o-1|[B] |0 1 of
0 0 1] 2] 0 0 12
(1 0 0| 1] 1 0 01
Cllo 1 o}-1{[D]|o 1 o]
0 0 1-2] 0 0 1]2
26) The solution of the system
2x — by + 52 = 17
X -2y + 3 = 9is
X + 3y = -4
Xx=1y=-1z=-2 X=-1y=-1z=2
Xx=Ly=-1z=2 D] x =1y =1z =2




27) The system of

X +2Y =4 has augmented matrix

2x +4y =8
sie o i b
alih Lk
28) The system of 22 14213); Zg has equivalent augmented
ot b ot
Il o, ¢ b
29) The system of 22 14213); Zg has

Only one solution
an infinite solutions

no solutions
[D] two solutions

30) The homogeneous system is

X +2y =4
2X +4y =8
X +2y =1
2x +4y =0

X +2y =4
2X +4y =8

-3x +2y =0
2X +4y =0
X +2y =1
2X +4y =-1

31) Every homogeneous system of linear equations is

consistent.

True False




32) If a homogeneous system has fewer equations than
variables, then it must have finite number of solutions.

True False

2X

33) The system X

two solutions

S5y + 5z
2y + 3z

= 0
= 0 has

infinite number of solutions
Only trivial solution [D] One solution non trivial

34) The augmented matrix of the  system
2X,+ AX,— 2X,;= 0 i
3X,+ 5X, = 0
2 4 -2 0 2 4 -2 0
A
_1 5 0 O} {3 5 0 O}
1 4 -1 0 1 2 -2 0
C
_3 5 0 O} IEI{3—1 0| 1}
35) The augmented matrix of the  system
2X,+ 4X,— 2X;= 0 i
3X,+ 5X, = 0
1 0 5 O 1 -1 5 0
A
_3 1 -3 0] {O 1 -3 O}
1 0 5 O 1 0 0 O
C
_O 1 -3 0] @{O 1 -3 O}




